28/06/11
THM 415: Finance

Midterm Exam

1. What is the “Agency Problem”? Could you devise any 3 concrete tools to minimize this problem? (4 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. BJK Inc. had recorded the following scrambled Income Statement Accounts for the year ended December 31st, 2010:

Interest Expense
$ 500,000
Revenues (Sales)

$ 25,624,775
Cost of Goods Sold
$ 14,310,250
Common Stock dividends
$ 1,500,000
Operating Expenses
$ 1,896,000
Shares Outstanding

750,000
Moreover, the following table reveals Income Tax Rates for Corporate Income for 2010 fiscal year:

	Taxable Income
	Marginal Tax Rate

	$ 0 – $ 50,000
	15 %

	$ 50,001 - $ 75,000
	25 %

	$ 75,001 - $ 100,000
	34 %

	$ 100,001 - $ 335,000
	39 %

	$ 335,001 - $ 10,000,000
	34 %

	$ 10,000,001 - $ 15,000,000
	35 %

	$ 15,000,001 - $ 18,333,333
	38 %

	Over $ 18,333,333
	35 %


a) Fill the underneath table: (3 Points)
	Taxable Income
	Marginal Tax Rate
	Tax Liability
	Cumulative Tax Liability
	Average Tax Rate

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


b) Suppose BJK Inc. is thinking about a future project that is assumed to bring to company a taxable income of $ 250,000 on an annual basis. If such a project has been adopted on 2010 fiscal year, what is the marginal tax rate applicable to this very project? Why? (2 Points)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) Construct BJK Inc. Income Statement for the year ended December 31st, 2010. (Ignore project planned in part b). (3 Points)
d) Calculate the Gross Profit Margin. (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

e) Calculate the Operating Profit Margin. (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

f) Calculate the Net Profit Margin. (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

g) Calculate Earnings per share (EPS). (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

h) Calculate Dividends per share. (1 Point)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

i) Analyze BJK Inc. situation as far as profitability, EPS, Dividends per share, and retained earnings are concerned. (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. Quaresma is in charge of managing Karakartal Company’s working capital. He discovered that the company had $ 250,000 in extra cash on hand and decided to put it in savings account paying 9 % interest compounded semi-annually. How much will Karakartal Company have after 15 years? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

4. How many years for an investment of $ 17,500 to grow to $ 175,000 if it is invested at 10 % annually? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Suppose you wanted to apply for a loan. Bank A and bank B offer you the following conditions:
Bank A: Annual Percentage Rate of 10 % compounded quarterly.

Bank B: Annual Percentage Rate of 9.85 % compounded daily.

If all the other conditions are the same, which bank offers the best deal? Why? (3 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

6. Ersan wanted to buy a house that costs $ 210,000. He took a 25-year mortgage loan with yearly payments at an annual rate of 8 %.
a) How much will Ersan pay each year? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Fill in the amortization schedule for the first 10 years? (5 Points)
	Year
	Amount Owed on the Principal at the Beginning of the Year
	Annuity Payment
	Interest Portion of the Annuity
	Repayment of the Principal Portion of the Annuity
	Outstanding Loan Balance

	1
	
	
	
	
	

	2
	
	
	
	
	

	3
	
	
	
	
	

	4
	
	
	
	
	

	5
	
	
	
	
	

	6
	
	
	
	
	

	7
	
	
	
	
	

	8
	
	
	
	
	

	9
	
	
	
	
	

	10
	
	
	
	
	


c) Suppose that exactly after 10 years, mortgage interest rates fell to 5 %. If Ersan has the chance to refinance his loan at that very interest, how much would Ersan pay (on a yearly basis) for the remaining 15 years of the loan? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of $ 20,000. Would you still refinance your loan? Why? Why not? (3 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
7. How much would you pay today to receive a stream of cash flows that pays $ 1,000 at the end of year 1 but grows at a rate of 5 % indefinitely assuming a discounting interest rate of 9 %? (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
8. Upon evaluation of the distribution of returns of ABC stock, the following possible rate of returns for the upcoming period as long as their probability of occurrence are estimated:
	Probability of Occurrence
	Rate of Return on Investment

	5 %
	- 10 %

	25 %
	0 %

	40 %
	15 %

	20 %
	20 %

	10 %
	45 %


a) Calculate the Expected Rate of Return of ABC stock. (1 Point)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) What is the risk of the investment in ABC stock as measured using the standard deviation of possible future rates of return? (2 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
9. Egemen bought some stocks of BJK company worth of 100,000 TL 7 years ago. Following is the beginning value of Egemen’s bought stocks 7 years ago as well as the values at the end of each year up until today (the end of year 7):
	Year
	Annual Rate of Return
	Stock Value

	0
	
	100,000 TL

	1
	23 %
	123,000 TL

	2
	10 %
	135,300 TL

	3
	- 25 %
	101,475 TL

	4
	5 %
	106,548.75 TL

	5
	20 %
	127,858.50 TL

	6
	10 %
	140,644.35 TL

	7
	6 %
	132,205.69 TL


a) What will be the annual rate of return that Egemen expects to earn next year, if he plans to continue holding BJK stocks? (2 Points)
-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) What annual rate of return that Egemen expects over a multi-year horizon from holding BJK stocks? (2 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
10. İsmail is 60 years of age and considering retirement. Currently, İsmail’s retirement portfolio is valued at 850,000 TL and is allocated in Treasury bills, İMKB 100 Index Fund and Gold as follows:
	Investment Tool
	Expected Return
	Value (TL)

	Treasury Bills
	4 %
	250,000

	İMKB 100 Index
	15 %
	475,000

	Gold
	6 %
	125,000


a) Based on the current portfolio composition and the expected rates of return given above, what is the expected rate of return for İsmail’s portfolio? (1 Point)
b) ----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) Suppose İsmail is considering reallocation of his investments to include more gold and less exposure to İMKB 100 Index (i.e. nothing to be allocated in İMKB 100 Index), what will be the expected rate of return on the resulting portfolio? (1 Point)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

11. İlkoş Manufacturing Inc. is considering several investments. The rate of treasury bills is currently 4 %, and the expected return for the market is 9 %. What should be the expected rates of return for each of the following investments (using the CAPM)? (5 Points)
	Security
	Beta

	A
	1.40

	B
	0.75

	C
	0.80

	D
	1.20

	E
	1.60


------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
GOOD LUCK!
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